‘ 2016 (S) Roll No:
INTERMEDIATE PART-I (11" CLASS)
BUSINESS MATHEMATICS & STATISTICS
PAPER-I (COMMERCE GROUP) TIME ALLOWED: 2.10 Hours
SUBJECTIVE MAXIMUM MARKS: 60

NOTE: - Write same question number and its part number on answer book,
as given in the question paper.

SECTION-I
2. Attempt any six parts. 6x2=12

6] Write any two uses of Ratio.

(i1) Define Continuous Proportion.
(i)  Find x if x:% 201213,

(iv)  Find out 60 % of 5000.

(v)  Rs.350is 2% % of what amount?

(vi)  What is the interest on Rs.1880.90 for one year at 5% %.

(vii)  What is an Annuity?

(viii) What is the formula to calculate the amount for compound interest?

(ix)  Write down any two types of Annuity.

3. Attempt any six parts. 6x2=12
(@) Define Linear Function.
(i)  Find the domain of function f(x) = —~1~I
X +

(i) If f(x)=x*+2x+1thenfind £ (1) and f(2).
(iv)  Solve the equation 3(4x —2) -~ 4(2x +3) =0

3x+2_2x+6

W) Solve the equation :

(vi) Solve the equation 3* = 27

(vii)  Solve the equation x> + 9x + 20 =0
(viii) Solve the equation 6x? — 96 = 0
(ix)  Solve the simultaneous equations.  2x + 5y =19, x +3 y=11

4, Attempt any six parts. 6x2=12
@) Define Diagonal Matrix.

+3 1 1
(i)  Findthe value of x and y if [’13 3y—4} _ [_J; 2)(]

4
(ili) Find 4B if 4=[3 4] and B=[5}

(v) If A=[_2 ::] find | 4|

45
v) If A=[ ] find 42
2 3

(vi)  Define Binary Number System.
(vii)  Simplify (1001), x (101),
(viii) Convert (10001), to Decimal Number System.

(ix)  Convert (19),, to Binary Number System

P.T.O.




(2)

SECTION-II

NOTE: - Attempt any three questions.

5.(a)

(b)

6.(a)

(b)

7.(a)

(b)

8.(a)

(b)

9.(a)

(b)

If 9 men can built a house in 24 days. In how many days will 54 men take to built the same house?

Find the present value of Rs.3500 due in 9 months at 6 % interest per year.

Find the compound interest of Rs.10,000/- loan for 5 years @ 8% per annum.

Draw the graph of f(x) =10 - 2x

Solve

Solve by using quadratic formula 6x? — 7x -3 =0

Solve the equations by Cramer’srule. 3x + 2y =12, x+5y=17

1 -2 3
If A=|-2 3 1| thenevaluate [ A}
4 -3 2

Simplify (100111), x (111),

Find the value of the following by changing into decimal system.

{ (943),, + (1111),} - (10011),
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you

- think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions -
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1
(1)  The standard form of 48, 63 and 126 is:-
(A)16:21:42 (B)42:21:16 (C)21:42:16 D)16:42:21
(2)  Fourth proportional to the numbers 60, 40, 30, is:- (A) 5 (B) 10 © 15 D) 20
(3) 24is____ percent of 192. (A)1.25% B)125% (C)0.125% (D) 125%

(4)  Rs.800is invested at 4 % per annum if the interest is simple then time taken for
the amount to become Rs.896 is:-

(A) One year (B) Two years (C) Three years (D) Four years
(5)  The reverse of the sum of an annuity is called:-
(A) Present value (B) Perpetuity (C) Interest (D) Ratio
(6) Range of the function f(x)= Jx, x20 is:- (A) All real numbers
(B) All positive real numbers (C) All negative real numbers (D) All natural numbers only
(7 If f(x)=3x*+4x+2 then f(-3)= A) =15 B)-16 (C)17 (D) -19
(8)  1f 56 is the eight time a number then the number is:-  (A) 7 B) 6 < 5 D) 4

(9)  Nature of the roots of equation 5x* + 4x + 5 =0 is:-

(A) Real and rational (B) Rational and equal (C) Imaginary (D) Real and irrational
(10)  Solution set of the equation 4x + 5y = 40 and 3x + 2y = 23 is:-

@A) {(-54)} B) {(5,-4)} © {(4,5)} D) {(5,4)}

-1 0
an If A{ 0 1} then 4° =

-1 0 10 1 0 01
w13 el e[ e[

(12) If A=[§ 5] is singular matrix then x=__ (A) 15 (B)-15 (O %5— (D) %5—
x
13) If A= b2 then Adj(A4) =
(13) S|y 4| ten Adi()=__
3 4 4 -2 4 2 -3 1

(A) [1 2} B) {_3 1} ©) [_3 1] (D) [ 4 _2]
(14) The binary number system is based on the digits:-

(A) 0, 1 ® 1,2 © 0, 1, 2, ~=--- 9 O 01,2
(15) (1110), - (101), =

(A) (1100), (B) (1001), (©) (1010), (D) (1011),

83(0bj)-2016(S)-100 (MULTAN)
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